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Answer can be written either in Sanskrit or in Malayalam or in English
In writing Sanskrit Devanagari Script should be used

Part - A
(1-12) AR AT AT FIMETHRT U7 e
Answer any ten of the following in one or two sentence (10 x 2 = 20)
7Y THREA T | T FH? Who? What?
FER I THH Feaq | F7? HH? Who? What?
AT SHATHIT JATEH T Jeaw=ad | & F@T Who? Whose?
FEUTSHIAT FUaEsay | FHIH? Why?
Horq 48 ST &2 a2 %2 Who Said? What?
T T Tl 9RFaT | 2 HHEH? Who? Whom?
AT T =] | %7 3ama ? Fa1? Who Said? When?
TR FATd TET 8399 & ? HAA? Whose? Why?
STV Fhell 2 Il 3 TG 37 2

Author of Arthasastra? The meaning of the word ‘Vartha’.

. avErEEr %H 95 of@d | Difference of job between Brahmin and Vaisya. Explain
1.
12.

T wE= o | Importance of ‘Vartha’

T: o H&ET &7 @9sad Who originated from the thighs of virat purusha.
(10 x2 - 20)

Part B
(13 - 21) weyvAT:  |ETE
Answer any six of the following
TG W a1 aviad | Sakuntala’s love and affection towards nature.
Fuaeg =¥ o@d | The message of Kanva for Dushyanta.
IIett 9 d Fwoaaaaer The advice of sage Kanva.
YHERT- SAGAET GHIVO] o1 |




17.

18.
19.
20.
21.

22.
23.
24.

The conversation between Priyamvada and Anasuya.

AT § eI Hhuaed 3@ |

The sorrow of Kanva when Sakuntala leaves from hermitage.
aramEr Y& awead | Divisions of Vartha.

FHE aveadl  loan - Explain

a1UY REAd - Business - Explain

%Y g¥ETed AW 2 - Cattle protection (6x5-30)

Part - C
(22- 25) g1 g U=
Write any two of the following
P 9 aea A 99vd | The journey of Sakuntala towards her husband’s house.
Ml aqaiger: a¥ead | The fourth act of Sankuntalam - Explain
T AGIF TY VMo o Ieeel o1 |
The importance of Sakuntalam among the works of Kalidasa.

Translate into Malayalam

25.(a) T AT 0T ST HGTRHAT

ot = I i HO T
YT YaTeeh! ST8T q
T f4 7 Prpereh: Uge! G | |

(b) AT & FHT WHIT T
T WIS T ORI
T = gARIeAT | |
2x15-30)



